
iz’u&i= dh ;kstuk  

d{kk & ofj"B mik/;k; 

fo"k; &  lkekU; foKku ¼56½      
vof/k & 3 ?k.Vs 15 feuV                     iw.kkZad & 56 

 

1- mn~ns'; gsrq vadHkkj & 
Ø-l-a mn~ns'; vadHkkj izfr'kr 

1- Kku 32 57-14 

2- vocks/k  13 23-21 

3- vfHkO;fDr@Kkuksi;ksx 6-5 11-61 

4- ekSfydrk@dkS'ky 4-5 8-04 

;ksx 56 100% 

2- iz'uksa ds izdkjokj vadHkkj & 
Ø-la- iz'uksa dk izdkj iz'uksa dh la[;k vad izfr iz'u dqy vad izfr'kr izfr'kr iz'uksa dk laHkkfor le; 
1- oLrqfu"B 13 1 23.21 34.21 30 

2- vfry?kwÙkjkRed 8 1 14.29 21.05 35 

3- y?kwÙkjkRed& I 12 1-5 32.14 31.58 40 

4- fn?kZmRrjh;  3 3 16.07 07.9 45 
5- fuca/kkRed 2 4 14.29 05.26 45 
 ;ksx   100% 100 195 Min 

 

 fo"k; oLrq dk vadHkkj & 
Ø-l-a fo"k; oLrq vadHkkj izfr'kr 

1.  v/;k;&1 fLFkj oS|qfrdh 1.5 2-67 
2.  v/;k;&2 fLFkj pqEcdh; 1.5 2-67 
3.  v/;k;&3 izfrjks/k ,oa la/kkfj= 1.5 2-67 
4.  v/;k;&4 foHkoekih 1.5 2-67 
5.  v/;k;&5 fo|qr pqEcdh; iszj.k 3 5-35 
6.  v/;k;&6 ijek.kq fl)kUr 3 5-35 
7.  v/;k;&7 /kukRed fdj.ksa 1 1-79 
8.  v/;k;&8 jsfM;ks/kfeZrk 1 1-79 
9.  v/;k;&9 inkFkksZa ds pqEcdh; xq.k 3 5-35 
10.  v/;k;&10 v)Zpkyd 1 1-79 
11.  v/;k;&11 fn"Vdkjh 1 1-79 
12.  v/;k;&12 jlk;fud vkca/ku 3 5-35 
13.  v/;k;&13 jlk;fud rFkk vk;fud lkE; 4 7-14 
14.  v/;k;&14 /kkrq ,oa /kkrqdeZ 4 7-14 
15.  v/;k;&15 dkcZfud jlk;u 4 7-14 
16.  v/;k;&16 cgqyd 4 7-14 
17.  v/;k;&17 vkòrchth ikniksa dk oxhZdj.k 1 1-79 
18.  v/;k;&18 eq[; ikni dqyksa dk okuLifrd o.kZu 1 1-79 
19.  v/;k;&19 vkrafjd lajpuk&tM+] ruk] iRrh] f}rh;d ,oa vlaxr o`f) 2 3-58 
20.  v/;k;&20 vkS"k/kh; egRo ds eq[; ikniksa dk lkekU; fooj.k 2 3-58 
21.  v/;k;&21 ikni 'kjhj] fØ;k foKku&izFke 1 1-79 
22.  v/;k;&22 ikni 'kjhj fØ;k foKku&f}rh; 1 1-79 
23.  v/;k;&23 tUrq txr dk oxhZdj.k 2 3-57 
24.  v/;k;&24 ikpu ra= 1 1-79 
25.  v/;k;&25 'olu ra= 1 1-79 
26.  v/;k;&26 ifjlapj.k ra= 1 1-79 



27.  v/;k;&27 mRltZu ra= 1 1-79 
28.  v/;k;&28 vUr% L=koh xzfUFk;ka 1 1-79 
29.  v/;k;&29 raf=dk ra= 0-5 0-89 
30.  v/;k;&30 tuu ra= 0-5 0-89 
31.  v/;k;&31 tUrqvksa esa fodkl dk lkekU; ifjp; 1 1-79 
32.  v/;k;&32 tUrqvksa esa fu"kspu ,oa fonyu 1 1-79 

 

  



iz'u&i= CY;w fizUV 

 d{kk &ofj"B mik/;k;       fo"k; %&lkekU; foKku          iw.kkZad & 56 
Ø-la- mÌs'; bdkbZ@mi bdkbZ Kku vocks/k Kkuksi;ksx@vfHkO;fDr dkS'ky@ekSfydrk ;ksx 

oL
rqf
u"
B 

vf
r-y

?kq 

y?
kq m

Rr
jkR

ed
 

nh
?kZm

Rr
jh;

 

fu
cU
/kk
Re

d 

oL
rqf
u"
B 

vf
r-y

?kq 

y?
kq m

Rr
jkR

ed
 

nh
?kZm

Rr
jh;

 

fu
cU
/kk
Re

d 

oL
rqf
u"
B 

vf
r-y

?kq 

y?
kq m

Rr
jkR

ed
 

nh
?kZm

Rr
jh;

 

fu
cU
/kk
Re

d 

oL
rqf
u"
B 

vf
r-y

?kq 

y?
kq m

Rr
jkR

ed
 

nh
?kZm

Rr
jh;

 

fu
cU
/kk
Re

d 

  

1. v/;k;&1 fLFkj oS|qfrdh        1.5(1)             1.5(1) 

2. v/;k;&2 fLFkj pqEcdh;   1.5(1)                  1.5(1) 

3. v/;k;&3 izfrjks/k ,oa la/kkfj=        1.5(1)             1.5(1) 

4. v/;k;&4 foHkoekih   1.5(1)                  1.5(1) 

5. v/;k;&5 fo|qr pqEcdh; iszj.k   1.5(1)     1.5(1)             3(2) 

6. v/;k;&6 ijek.kq fl)kUr 1(1)         2(1)           3(2) 

7. v/;k;&7 /kukRed fdj.ksa          1(1)           1(1) 

8. v/;k;&8 jsfM;ks/kfeZrk          1(1)           1(1) 

9. v/;k;&9 inkFkksZa ds pqEcdh; xq.k 1(1)              2(1)      3(2) 

10. v/;k;&10 v)Zpkyd     1(1)                1(1) 

11. v/;k;&11 fn"Vdkjh     1(1)                1(1) 

12. v/;k;&12 jlk;fud vkca/ku   1.5(1)     1.5(1)             3(2) 

13. v/;k;&13 jlk;fud rFkk vk;fud lkE;  1(1)           3(2)        4(3) 

14. v/;k;&14 /kkrq ,oa /kkrqdeZ  1(1) 1.5(1)               1.5(1)   4(3) 

15. v/;k;&15 dkcZfud jlk;u 1(1)   2(2)               1(1)  4(4) 

16. v/;k;&16 cgqyd 2(1)      2(2)              4(3) 

17. v/;k;&17 vkor̀chth ikniksa dk oxhZdj.k 1(1)                    1(1) 

18. v/;k;&18 eq[; ikni dqyksa dk okuLifrd o.kZu  1(1)                   1(1) 

19. v/;k;&19 vkrafjd lajpuk&tM+] ruk] iRrh] 
f}rh;d ,oa vlaxr o`f) 

1(1) 1(1)                   2(2) 

20. v/;k;&20 vkS"k/kh; egRo ds eq[; ikniksa dk 
lkekU; fooj.k 

1(1) 1(1)                   2(2) 

21. v/;k;&21 ikni 'kjhj] fØ;k foKku&izFke       1(1)              1(1) 

22. v/;k;&22 ikni 'kjhj fØ;k foKku&f}rh; 1(1)                    1(1) 



23. v/;k;&23 tUrq txr dk oxhZdj.k 1(1)          1(1)          2(2) 

24. v/;k;&24 ikpu ra=    1(1)                 1(1) 

25. v/;k;&25 'olu ra=    1(1)                 1(1) 

26. v/;k;&26 ifjlapj.k ra=                   1(1)  1(1) 

27. v/;k;&27 mRltZu ra=                   1(1)  1(1) 

28. v/;k;&28 vUr% L=koh xzfUFk;ka    1(1)                 1(1) 

29. v/;k;&29 raf=dk ra=    0.5(-)                 0.5 

30. v/;k;&30 tuu ra=              0.5(-)       0.5 

31. v/;k;&31 tUrqvksa esa fodkl dk lkekU; ifjp; 1(1)                    1(1) 

32. v/;k;&32 tUrqvksa esa fu"kspu ,oa fonyu 1(1)                    1(1) 

 ;ksx 12(11) 5(5) 7.5(5) 5.5(5) 2(2)  3(3) 6(4)  4(3) 1(1)  3(2) 0.5(-) 2(1)   1.5(1) 3(3)   

 egk;ksx 32(28) 13(10) 6.5(4) 4.5(4) 56(46) 

 

 fodYiksa dh ;kstuk %& iz-la- 16 ls 20 esa ,d vkarfjd fodYi gS    uksV%& dks"Bd esa ckgj dh la[;k vadksa dh rFkk Hkhrj iz'uksa dh |ksrd gSA 
  
              
  
                      gLrk{kj 
 



Ekk/;fed f’k{kk cksMZ jktLFkku] vtesj 
mPp ek/;fed ijh{kk&2023 

ekWMy iz’ui= 
fo"k; & lkekU; foKku ¼56½ 

d{kk & ofj"B mik/;k; 
le;& 3 ?k.Vs 15 feuV                                                     iw.kkZad &56 

[k.M&v 
SECTION-A 

cgqp;ukRed iz'u % 
Multiple Choice Questions :- 
1- fuEukafdr ç'uksa esa fn, x, lgh fodYi dk p;u dj mÙkj dks mÙkj&iqfLrdk esa   

fyf[k,%  
    Write the ansurer in answer book by selecting the correct option given in the following  

questions. 

¼i½  ,d v.Mk.kq fuekZ.k ds le; fdruh èkzqodk; fuÆer gksrh gS &   1 
¼v½ ,d  ¼c½ nks  ¼l½ rhu  ¼n½ pkj  

    How many polar bodies are formed during ovum formation- 
       ¼Aa½ One  ¼B½ Two ¼C½ Three ¼D½ Four 
 
¼ii½  leLFkkfud ukfHkd os ukfHkd gksrs gSa ftuds fy,&    1  

¼A½ Z o A leku gksrs gSa   ¼B½ Z leku o A vyx&vyx 
¼C½ Z vyx vyx o A leku  ¼D½ Z o A nksuksa vyx&vyx 

          
Isotopic nucleus refers to those nucleus which have- 

¼Aa½ Z and A Same    ¼B½ Z same and A different 

¼C½ Z different and A Same   ¼D½ Different Z and A  

 

¼ii½ lajpukRed leko;ork fdrus çdkj dh gksrh gS&     1 
¼v½ ,d  ¼c½ rhu  ¼l½ pkj  ¼n½ ikap 

    How many types of structural isomerism are there- 
       ¼Aa½ One  ¼B½ Three ¼C½ Four ¼D½ Five 
 

¼iv½ ^isikoj lkseuhQsje* fdl ikni dk okuLifrd uke gS&     1 
¼v½ gYnh ¼c½ dquSu ¼l½ vQhe ¼n½ liZxUèkk  
Papaver somniferum is the botanical name of- 

(A) Turmeric ¼B½ Quinine ¼C½ opium ¼D½ Sarpagandha  
 



¼v½ bysDVª‚u ifjogu ra= mifLFkr gksrk gS&      1 
¼v½ eSfVªDl esa     ¼c½ ekbVksd‚fUMª;k esa  
¼l½  ekbVksdkfUMª;k dh cká f>Yyh esa  ¼n½  ifjekbVksdkfUMª;y LFky esa 
Electron transport system is present in- 
(A) Matrix      (B) Mitochondria 
(C) Outer membrane of Mitochondria   (D) Perimitochondrial space  
 

¼vi½ QsjsfVek ikWLF;wek fdl la?k dk çk.kh gS&      1 
¼v½ ,susfyMk     ¼c½ vkFkzksiksMk    
¼l½ lhysUVsªVk    ¼n½ eksyLdk 
Pheretima posthuma is preesent in which phyllum  
(A) Annelida    (B) Arthropoda  
(C) Coelenterata    (D) Mollusca 

 
¼vii½ csdsykbV gS &          1 

¼v½ ;ksxt cgqyd    ¼c½ rkin`<+ cgqyd 
¼l½ rki lq?kV~; cgqyd   ¼n½ çR;kLFk cgqyd 
Bakelite is a- 
(A) Addition Polymer    (B) Thermosetting Polymer  
(C) Thermoplastic Polymer   (D) Elastomers  

 
¼viii½ lef)ikf'oZd iÙkh ij jU/kz ik;s tkrs gSa&       1 

¼v½ Åijh vfèkpeZ ij    
¼c½ fupyh vfèkpeZij 
¼l½ Åijh o fupyh vfèkpeZ ij leku :i ls forfjr 
¼n½ Åijh o fupyh vfèkpeZ ij vleku :i ls forfjr 
Stomata in Isobilateral leaves are praesent in  
(A) Upper epidermis  
(B) Lower epidermis  
(C) Equally distributed in upper and lower epidermis 
(D) Unequally distributed in upper and lower epidermis 

 
¼ix½ pqEcdu rhozrk dk ek=d gksrk gS &        1 

¼v½ ,Eih;j çfr ehVj   ¼c½ ,Eih;j ehVj2 
¼l½ U;wVu çfr ,Eih;j   ¼n½ ,Eih;j 
Unit of Intensity of Magnetisation is- 
(A) Ampere/metre   (B) Ampere metre2  
(C) Neuton/Ampere   (D) Ampere 



 
2- fuEufyf[kr ç'uksa ds fy, fjä LFkkuksa dh iwÆr mÙkj iqfLrdk esa dhft,& 
      fill in the blanks in answer-book for following questions : 

¼i½ CykLVwyk ls xsLVªwyk fuekZ.k dks ----------------------------- dgrs gSaA   1 

      Formation of Gastrula from Blastula is named..................... 

¼ii½ ,sls cgqyd tks leku ,dyd bdkb;ksa ls curs gSa] mUgsa ------------------ dgrs gSA1 
Polymers made up of same monomer units are called........................... 

¼iii½ f=lay; ds ifj.kkeLo:i -------------------------------------- fodflr gksrk gSA  1 
       .......................... developes due to triple fussion. 
¼iv½ d‚djksp esa ---------------------------------------nf̀"V ik;h tkrh gSA   1 
      .........................vision is present in cockroach-  

 
3- vfry?kqÙkjkRed ç'u  

Very short answer type questions % 
¼i½ cgqyd vkSj ,dyd inksa dh O;k[;k dhft,\      1 
   Define Polymer and monomer unit. 

¼ii½ fuLrkiu fdls dgrs gSa \        1 
What is calcination? 

  ¼iii½ lksysuslh dqy dk iq"iØe fyf[k;s\       1 
      Write the Inflorescence of solanaceae family  
  ¼iv½ ,dchti=h ewy esa laogu iwyksa dh la[;k fdruh gksrh gSaA   1 

State the number of vascular bundles present in monocot roots?  
  ¼v½ gYnh] ikSèks ds fdl Hkkx ls çkIr gksrh gS \      1 

Turmeric is optained from which part of the plant? 
  ¼vi½ lkE;koLFkk dks çHkkfor djus okys dkjdksa ds uke fyf[k,\   1 

Name the factors affecting the state of equillibrium? 

  ¼vii½ folj.k o ijklj.k esa nks vUrj fyf[k,       1 
Write two differences between diffusion and osmosis? 

  ¼viii½ lajpuk ds vkèkkj ij cgqydksa dks fdrus Hkkxksa esa ckaVk x;k gS\   1 
      Polymers are classified into how many groups on the basis of structure. 

 
[k.M&^l* 
 SECTION-C 

y?kwRjkRed ç'u %&  
Short answer type questions:- 
iz'u 4- D;k fo|qr cy {ks= es nks cy js[kk;sa ,d nwljs dks dkV ldrh gSa\ Li"V dhft;s 

Can two lines of Electric froce intersect at a point in electric field? Explain   1x½ 
 



iz'u 5- >kx Iyou fofèk dk lfp= o.kZu dhft;s A      1x½ 

Explain forth floatation process with the help of diagram. 

 
iz'u 6- lekUrj Øe o Js.kh Øe la;kstu esa vUrj fyf[k;sA     1x½ 
               Differentiate between series and parallel Combination of resistance? 

 

iz'u 7- flXek ¼σ½ o ikÃ (π) vkcU/k esa vUrj Li"V dhft,A     1x½ 
      Differentiate between sigma (σ) and pi (π)  bond 

 
iz'u 8- VªkalQ‚eZj dh ØksM iVfyr D;ksa gksrh gS\     1x½ 

Why is the core of transformer laminated? 
 

iz'u 9- nzO; vuqikrh fØ;k ds fu;e dh O;k[;k dhft,A     1x½ 
Explain the low of Mass action. 
 

iz'u10- ¶ysÇex ds nk;sa gkFk dk fu;e crkb;sA      1x½ 
 Write the  Feming's right hand rule. 

 
iz'u 11- èkkrq fu"d"kZ.k fdls dgrs gS \ blds fofHkUu inks ds uke fyf[k;sA  1x½ 
   What is Metallergy? Name the step of Metallergy. 

 
iz'u 12- fo|qr pqEcdh; çsj.k ds QSjkMs ds fu;e fyf[k;sA     1x½ 

Write the Faraday's law of Electromagnetic field. 

 
iz'u 13- vehVj o oksYVehVj esa fdldk çfrjksèk vfèkdre gksrk gSA    1x½ 

Whom resistance is maximum in between Ameter and voltmeter. 
 

iz'u 14- ladj.k fdls dgrs gSa \ ladj.k ds çdkj crkb;sA    1x½ 
  What is hybridization? Writes its type. 

 
iz'u 15- xq.kkRed fo'ys"k.k esa rr̀h; lewg ds fo'ys"k.k ls iwoZ HN03 D;ksa feykrs gS\ 1x½ 

Why is HNO3 added before qualitative analysis of III groups? 

 
  



[k.M ¼n½ 
SECTION-D 

nh?kZ mÙkjh; ç'u 
Long answer type questions 

iz'u 16- ¼i½ C5H10o v.kq ds lw= ds e/;ko;fo;ksa dh lajpuk fyf[k;sA   3 
  ¼ii½ CH3CH2-COOH  dh ewy J`a[kyk esa fdrus dkcZu ijek.kq gSA 
  ¼iii½ ¶;wjsu esa dkSulk fo"ke ijek.kq mifLFkr gksrk gSaA  
  ¼i½ Write the structure of melamers of C5H10o. 

  ¼ii½ Write the no. of Carbon atoms in parent chain of CH3CH2-COOH  . 

  ¼iii½ Name the odd atom present in phurane. 

 
OR 

 

¼i½ C4H100 v.kqlw= ds eè;ko;oh leko;fo;ksa dh lajpuk fyf[k;sA 
¼ii½ CH3CH2-CH2-CH0 dh ewy J`a[kyk esa fdrus dkcZu ijek.kq gSA 
¼iii½ Fkk;ksQhu esa dkSulk fo"k; ijek.kq mifLFkr gksrk gS \ 
¼i½ Write the structure of metamers of C4H100. 

¼ii½ Write the no. of Carbon atoms in parent chain of CH3CH2-CH2-CH0. 

¼iii½ Name the odd atom present in thiophene. 

 
iz'u 17-  

¼i½ nksgjk jä ifjlapj.k dk fp= cukb;sA     3 
¼ii½ euq"; ds 'olu ra= ds fofHkUu Hkkxksa ds uke fyf[k;sA 
¼iii½ ikpd xzfUFk;ksa ds uke fyf[k;sA 
¼i½ Draw a labelled diagram of double blood circulation. 

¼ii½ Write the name of organs of human respiratay System. 

¼iii½ Write the name of digestive glands. 

 
¼i½ 'olu ra= dk ukekafdr fp= cukb;s 
¼ii½ ikpu ra= ls lEcfUèkr fdUgh nks jksxks ds uke fyf[k;sA  
¼iii½ #fèkj df.kdkvksa ds uke fyf[k;sA 
¼i½ Draw a lebelled diagram of Respiratory system. 
¼ii½ Write the name of two diseases related with digestive system 

¼iii½ Write name of blood cells. 

 
 



iz'u 18- ¼i½ usÝku dk ukekafdr fp= cukb;sA      3 
Draw the labelled diagram of Nephron  

  ¼ii½ vUr% L=koh xzfUFk;k¡ fdls dgrs gS \  
     Define the Endocrine Glands? 
  ¼iii½ v.M iztd tUrq fdls dgrs gS\ euq"; esa fdrus tksM+h es:raf=dk,sa gksrh gSaA   

Define Oviperous animals? How many spinal nerves are present in human being.  
vFkok@OR 

¼i½ mRltZu ra= dk ukekafdr fp= cukb;s A  
   Draw the labelled diagram of Excretory System  
¼ii½ gkeksZu fdls dgrs gSa\ 
   What are hormones \  
¼iii½ f'k'kqiztd tUrq dk ,d mnkgj.k fyf[k,\ euq"; ds efLr"d dk lokZfèkd cM+k 

Hkkx dkSulk gksrk gS  
         Give one example of Viviperous animal ? What is the largest part of human brain. 

 
[k.M ¼;½ 
SECTION-E 

 
 
fucèkkRed ç'u  
Eassey type questions. 
iz'u 19- 
¼i½ Dok.Ve la[;k;sa fdrus çdkj dh gksrh gS \ uke orkb;sA    4 
¼ii½ X&fdj.kksa ds çdkj fyf[k;sA  
¼iii½ xkek y fdj.kks ds nks xq.k fyf[k;sA 
How many types of quantum numbers. Write their names. 

¼i½ Write type of x-rays. 

¼ii½ Write two properties of (y) gama rays. 
vFkok@OR 

¼i½ gkbMªkstu ijek.kq ds o.kZ Øe esa Jsf.k;ksa ds çdkj fyf[k;sA 
¼ii½ èku fdj.kksa ds dksÃ nks xq.k fyf[k;sA 
¼iii½ v)Zvk;q o ekè;vk;q esa vUrj crkb;sA 
¼i½  write the types of series in spectarum of hydrogen atom  

¼ii½ write two properties of positive rays.  

¼iii½ Differentiate between Half life and mean life. 

 



iz'u 20- ¼i½ fVIi.kh fyf[k;s        4 
¼A½  pqEcdh; {ks= 
¼B½  pqEcdh; vk?kw.kZ 
¼ii½  uSt v)Zpkyd fdls dgrs gS \  
¼iii½ iw.kZ rjax fn"Vdkjh dh vf/kdre {kerk fdruh gksrh gSA- 
¼i½  Short note on  

(A) Magnetic field 
(B) Magnetic Dipole movement 
(ii) Define Intrinsic semiconducter  
(iii) Write maximum capacity of Full wave Rectifier. 

vFkok@OR 
 

¼i½ fVIi.kh fyf[k;s & 
¼A½ pqEcdh; ikjxE;rk  
¼B½ pqEcdh; çòfÙk ¼laosnu'khyrk½ 
¼ii½ ÅtkZ vUrjky fdls dgrs gS \ 
¼III½ v)Zrjax fn"Vdkjh dk mÆedk xq.kkad fdruk gksrk gSA 
(i) Short Note on 
(A) Magnetic permeability. 

¼B½ Magnetic susceptibility 

(II) Define energy Interval. 
(III) What is is the Urmica gudank of Half wave Rectifier. 


